
Isttr{

L r h \z",vrag \n e t ( ., ( st \rg *, eur .uauvr\

hL\

v aeU ( \ar a X- cwl cn\ Ut h e tr[.u V&vrr- \A c t/Yl{

( cyn)

k olvr c{,d tkvrua S

= 24nr2 e 2rrx3

Lil rgkutctevvls

LL_K 4L

h: 2(r?-*\

h = 2{- 2x

{gLuvr6[c\vrs vrlgrnn (g cw13)

3 
= rrxr h = il- x' (tt'.- L *\

D e \t vtt*Jcws ml'tt$ d"!,

(zt- 2 s)

= !f (t.),

= 512n'

t)
r)

Cly!1

uc\,r1r.

Erh *!\1v i'v c[eyr ?

x-=8 
x.*n $wt*=Il'Bt

o

= I['8',

=$ '24

?1608

S tarsh.- wI,lLtdi a
$$

i.v tboB cvut'

Ur= 
48ux 6ux2 = 6rrx (g - *)

ttl -0 qL( 6tx(8-*\=[il\)
X=0 ellav K=8

D evrra\zr-vrs nol,te Faileq)

T€ ckevtha\rleLL

trl S ua-v ,

-

\
U

$
V 512ir

t.4A K

I
I

{

J

B ehcr er e$ scr.wbavtd

w, eLta-rrt y- cah h ta
aH kunna u\rlrru

x c,\qwlcvt r r.r4 \-avlabat 1

..,j_

0r\


